
$
$

#

#

#

_|fslxfwgjny3$jw�|zsljsj$Fwgjny$ns$ijs$

Jnswnhmyzsljs$ijw$IIW1Ozljsimnqkj2$

$

Fzx�lj$zsi$_zxfrrjskfxxzsljs$fzx$ijr$$

Fgxhmqzxxgjwnhmy$ijx$INM1$Ijzyxhmjx$Nsxynyzy$$

kw$Mjnrjw�njmzslxktwxhmzsl$lLrgM$
$1$jnsljwjnhmy${ts$Fspj$Iwjnjw1Mtwsnsl$zsi$Pfwxyjs$Qfzinjs$1$$

Xyzinj$nr$Fzkywfl$ijx$Gzsijxrnsnxyjwnzrx$kw$\nwyxhmfky$zsi$Jsjwlnj$,GR\n-$

$ijw$Gjfzkywflyjs$kw$inj$Sjzjs$Gzsijxqésijw$Nwnx$Lqjnhpj$

Uwtojpyszrrjw$74159$

$

Gjwqns0$Xjuyjrgjw$645;$

#

#

#

#

#

#

#

#

#

$

$

$
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_zr$Ktwxhmzslxfzkywfl$

Ynyjq$ijx$Ktwxhmzslxfzkywfljx?$�0H3@9D3C47<E�7CJHF@97@7 "C4jny$ns$Jnswnhmyzsljs$ijw$IIW1

Ozljsimnqkj&2$

Uwtojpy�jnywfzr?$Ozqn$6459$1$Xjuyjrgjw$645;$

_njq$ijx$Ktwxhmzslxfzkywfljx?$

Rny$ ijr$ t2f2$ Fzkywfl$ xtqqjs$ nr$ Wfmrjs$ jnsjw$ |nxxjsxhmfkyqnhmjs$ Zsyjwxzhmzsljs$ inj$

Mnsyjwlwsij0$ inj$ Uwf}nx$ zsi$ inj$ Ktqljs$ ijw$ _|fslxfwgjny$ 3$ jw�|zsljsjs$ Fwgjny$ kw$ inj$

Gjywtkkjsjs$ ljpqéwy$ zsi$ jnsj$ ljxjqqxhmfkyqnhmj$ Inxpzxxnts$ gjw$ injxj$ gjxtsijwj$ Ktwr$ ijx$

Zswjhmyx$ jwrûlqnhmy$ |jwijs2$ Ifgjn$ xtqq$ jnsj$ zrkfxxjsij$ Wjhmjwhmj$ fzk$ ijw$ Lwzsiqflj$

{twmfsijsjw$ Fpyjs0$ jnsj$ Fzx|jwyzsl$ {ts$ Gjwnhmyjs$ ijw$ Gjywtkkjsjs$ xt|nj$ jnsj$ jwlés�jsij$

Gjkwflzsl$ijw$Gjywtkkjsjs$izwhmljkmwy$|jwijs2$Inj$Jwljgsnxxj$xtqqjs$xt$fzkgjwjnyjy$|jwijs0$

ifxx$xnj$jnsjw$ljxjqqxhmfkyqnhmjs$Ijgfyyj$�zléslqnhm$xnsi2$

[jwûkkjsyqnhmzsl?$

Ijw${tqqxyésinlj$Fgxhmqzxxgjwnhmy$ijx$Ktwxhmzslxuwtojpyjx$jwxhmjnsy$ nr$Kwmofmw$645<$ ns$ijw$

Uzgqnpfyntsxwjnmj$ ijx$ INM$ 1$ Ijzyxhmjx$ Nsxynyzy$ kw$ Mjnrjw�njmzslxktwxhmzsl$ lLrgM$ gjnr$

Gjwqnsjw$\nxxjsxhmfkyx{jwqfl2$$

$

_z$ijs$Fzytwjs$ijx$Gjwnhmyjx?$

Uwtk2$ Iw2$ Pfwxyjs$ Qfzinjs$ nxy$ Nsmfgjw$ ijx$ Jymnpqjmwxyzmqx$ fs$ ijw$ J{fsljqnxhmjs$ Mthmxhmzqj$

Gjwqns2$Jw$|fw3nxy$6454$zsi$645<$Lfxyuwtkjxxtw$fs$Ytzqtzxjw$Zsn{jwxnyéy$Ofjs$Ofzwíx$zsi$$

Jwfxrj0$ nxy$ Qjnyjw$ ijx$INM0$ [twxyfsixrnylqnji$ ijx$ Gzsijx{jwgfsijx$[twrzsixhmfkyxyfl$

j2[2$zsi$Rnylqnji$nr$Gzsijxktwzr$[twrzsixhmfky2$Jw$fwgjnyjy$fqx$Rnylqnji$nr$Kfhmgjnwfy$

ijw$ Gjwqnsjw$ Fsqfzk1$ zsi$ Gjwfyzslxxyjqqj$ zsi$ nxy$ Fzytw$ �fmqwjnhmjw$ |nxxjsxhmfkyqnhmjw$

Gjnywélj$�zw$Jymnp$zsi$Ozljsimnqkj2$

Fspj$Iwjnjw1Mtwsnsl$nxy$Qjnyjwns$ijx$INM0$uwtrt{njwy$fs$ijw$Zsn{jwxnyéy$Wtxythp$nr$Gjwjnhm$ijw$

Jw�njmzslx|nxxjsxhmfky$ gjw$ inj$ Fwgjnyxjw�njmzsl$ Rfpfwjsptx0$ {jwûkkjsyqnhmyj$ ns$ ijs$

qjy�yjs$Ofmwjs$Uzgqnpfyntsjs$�zw$Xt�nfquéifltlnp$ijw$IIW$zsi$fwgjnyjy$fqx$Qjmwgjfzkywflj$

z2f2$kw$Jymnp$fs$ijw$J{fsljqnxhmjs$Mthmxhmzqj$Gjwqns2$$

$
#

#
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#

Ijw$Zsyjwxzhmzslxljljsxyfsi$&_|fslxfwgjny$nr$Ptsyj}y$ijw$IIW1

Mjnrjw�njmzsl&$$
,Fzx�zl$fzx$ijr$Ktwxhmzslxgjwnhmy$tmsj$Vzjqqjsfslfgjs0$X2$5<$167-$

$

Inj$Inxpzxxnts0$ tg$ ijw$Yjwrnszx$ &_|fslxfwgjny&$fzhm$ fzk$ Gjwjnhmj$ fzäjwmfqg$ ijw$SX1

_jny$ fslj|jsijy$ |jwijs$ pfss0$ gnqijy$ ns$ lj|nxxjw$ \jnxj$ ijs$ xtljsfssyjs$

�'<DEAC<=7CDEC7<E� GA@ ¤¨§¥�§¦ 34� +;@7 6<7D7@ ;<7C <@E7CBC7E<7C7@ JF HA>>7@ A67C 7<@7 

Xyjqqzslsfmrj$ if�z$ fg�zljgjs0$ lnsl$ jx$ ifrfqx$ ifwzr0$ tg$ inj$ Sf�n{jwgwjhmjs$ fqx$ ns$

nmwjw$ Lwfzxfrpjny$ xt$ jnsrfqnl$ fzkljkfxxy$ |jwijs$ xtqqyjs0$ ifxx$ ojijw$ [jwlqjnhm0$ ojij$

Wjqfyn{njwzsl$ zsi$ ojij$ Fsfqtlnxnjwzsl$ fgljqjmsy$ |jwijs$ rzxx2$ Owljs$ Mfgjwrfx$

{jwzwyjnqyj$ ifrfqx$ ijs$ [jwxzhm$ Jwsxy$ Stqyjx0$ inj$ xt|ojynxhmjs$ Lzqflx$ rny$ ijs$

Pts�jsywfyntsxqfljws$ ijx$ Iwnyyjs$ Wjnhmjx$ �z$ {jwlqjnhmjs$ rny$ ijr$ ;=jw$ Yjwrnszx$

�C7G<D<A@<DE<D5;��$

1;@><5;7D =3@@ 3? &74C3F5; 67D .7C?<@FD �0H3@9D3C47<E� 8MC 6<7 '7<?7<@C<5;EF@97@ 

gjtgfhmyjy$ |jwijs2$ \émwjsi$ {tw$ fqqjr$ inj$ Gjywtkkjsjs$ ijs$ Yjwrnszx$ |jljs$ xjnsjw$

zs�|jnijzynljs$ \jwyzsl$ {jw|jsijs0$ lngy$ jx$ �2G2$ zsyjw$ Mnxytwnpjws$ xyfwpj$ Jns|ésij$

ljljs$inj$\twy{jw|jsizsl2$Ijw$Gjlwnkk$&_|fslxfwgjny&$nxy$fzklwzsi$ijw$Lwézjqyfyjs$ijw$

Sfyntsfqxt�nfqnxyjs$ jns$ {twgjqfxyjyjw$ Gjlwnkk2$ Nssjwmfqg$ ijw$ Fzkfwgjnyzsl$ ijw$ IIW1

Mjnrjw�njmzsl$ nr$ Gjxtsijwjs$ zsi$ ijw$ Mjnrjw�njmzsl$ ijw$ Gzsijxwjuzgqnp$ nsxljxfry$

nxy$inj$[jw|jsizsl$ifmjw$ézäjwxy$zrxywnyyjs2$$

&_|fslxfwgjny&$ nxy$ sfhm$ ijw$ mjzynljs$ Ijknsnynts$ ijx$ Izijsx$ nr$ ijzyxhmjs$

Xuwfhmljgwfzhm$ jnsj$ &rny$ xhm|jwjw$ pûwujwqnhmjw$ Fwgjny$ {jwgzsijsj$ Kwjnmjnyxxywfkj&$

tijw$&Fwgjny0$�z$ijw$ojrfsi$,|nijwwjhmyqnhm-$�|fslx{jwukqnhmyjy0$lj�|zsljs$|nwi2&$Jnsj$

fzxxhmqnjäqnhmj$ [jw|jsizsl$ kw$ inj$ sfyntsfqxt�nfqnxynxhmj$ _jny$ nxy$ snhmy$ nr$ Gjlwnkk$

fsljqjly2$ Ifx$ qnjly$ ifwfs0$ ifxx$ ifx$ \twy$ &_|fslxfwgjny&$ snhmy$ fzx$ injxjw$ _jny$ xyfrry0$

xtsijws$jnsj$sfhmywélqnhmj$Gjlwnkkx�z|jnxzsl$jwkfmwjs$mfy2$$

Nr$ Ofmwj$6444$gjlfss$inj$Gjrmzsl$jnsjw$ ns$ijs$ZXF$ qjgjsijs$Tukjwlwzuuj0$ kw$ nmwj$

jw�|zsljsj$ Yéynlpjny$ zsyjw$ ijr$ SX1Wjlnrj0$ jsyxhméinly$ �z$ |jwijs2$ Fqx$ Lwzuujs0$ inj$

_|fslxfwgjny$ qjnxyjs$ rzxxyjs0$ |jwijs$ ktwyfs$ Mékyqnslxfwgjnyjw0$ Pwnjlxljkfsljsj$ zsi$

Kwjrifwgjnyjw$ fzklj�émqy2$ Xt$|zwij$ ijw$Gjlwnkk$ nrrjw$ fzxiwhpqnhmjw$rny$ ijw$SX1_jny$

{jwgzsijs$zsi$ $xjnsj$mjzynlj$[jw|jsizsl${jwifspy$xnhm$ijr$Wjxzqyfy$ijw$utqnynxhmjs$

Fpyn{nyéy$jnsjw$Tukjwlwzuuj2$$

Injxjw$ Gjkzsi$ gjijzyjy$ kw$ inj$ Fzkfwgjnyzsl$ ijw$ Mjnrjw�njmzsl$ ijw$ IIW0$ ifxx$ inj$

[jw|jsizsl$ ijx$ Gjlwnkkjx$ &_|fslxfwgjny&$ fzx$ mnxytwnxhmjw$ Ujwxujpyn{j$ snhmy$ Ljkfmw$
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qézky0$SX1Zswjhmy$�z$wjqfyn{njwjs2$Ijw$Gjlwnkk$mfy${tw$ijw$SX1_jny$zsi$fzhm$sfhm$nmw$jnsj$

[njq�fmq${ts$|jnyjwjs$zswjhmyréänljs$Fwgjnyxuméstrjsjs$gj�jnhmsjy2$Zsgjxhmfijy$ijw$

Yfyxfhmjs0$ ifxx$ inj$ SX1_|fslxfwgjnyjw$ nr$ ljxjqqxhmfkyqnhmjs$ Ljiéhmysnx$ jnsjs$

mjwfzxwfljsijs$ Uqfy�$ ljsnjäjs0$ nxy$ ijw$ Yjwrnszx$ _|fslxfwgjny$ snhmy$ j}pqzxn{$ �z$

{jwxyjmjs2$ Injx$ gjijzyjy$ fgjw$ snhmy0$ ifxx$ fzytrfynxhm$ ijw$ Zrpjmwxhmqzxx$ lnqy0$ ifxx$

Fwgjnyxuméstrjsj$ ns$ IIW1Pnsijwmjnrjs0$ inj$ jw�|zs97@ H3C7@� 3>D �0H3@9D3C47<E� 

gj�jnhmsjy$|jwijs$xtqqyjs2$$

$

Inj$_zxfrrjskfxxzsl$jnsnljw$Jwljgsnxxj$$

Fwgjny$ |fw$ ns$ ijs$ IIW1Pnsijwmjnrjs$ gqnhm2$ Xnj$ wjnhmyj$ {ts$ jnskfhmjs$ Yéynlpjnyjs$ �zw$

Gj|éqynlzsl$ ijx$ Mjnrfqqyfljx$ gnx$ mns$ �z$ yfyxéhmqnhm$ zsyjw$ Xywfkfsiwtmzsl$ zsi$ zsyjw$

Fzxgjzyzslxfxujpyjs$jw�|zsljsjw$Fwgjny2$\nw$mfgjs$injxj$Yéynlpjnyjs$jnsjwxjnyx$fzx$ijw$Xnhmy$

ijw$jmjrfqnljs$Mjnrpnsijw$zsi$mjzynljs$_jny�jzljs$ifwljxyjqqy2$Fsijwjwxjnyx$mfgjs$|nw$injxj$

,;K@A?7@7 <@ 67@ J7<E><5;7@ F@6 �BK639A9<D5;7@� (A@E7IE 7<@9jgjyyjy2$$

Snhmy$fqqj$Fwgjnyxktwrjs$|fwjs$uwtgqjrfynxhm2$ Nr$Ktqljsijs$xtqq$szw$jns$Gwzhmyjnq$ijw$ ns$ijs$

Pnsijwmjnrjs$ jw�|zsljsjs$ Fwgjnyxqjnxyzsljs$ {twljxyjqqy$ |jwijs2$ Jx$ nxy$ fzkkfqqjsi0$ ifxx$ ijw$

247C93@9 GA@ 3@ D<5; F@BCA4>7?3E<D5;7@ "C47<E7@ ��.<D5; 34CKF?7@�� JF BC7=KC7@ "C47<E7@ 

xnhm$kqnjäjsi$ljxyfqyjyj2$$

Jwxyjsx2$ cL(/(,,/&*$)0,+&* -402,+&*( ".%(+0a_$ Inj$ zsyjw$ &ljxjqqxhmfkyqnhm$ sy�qnhmj$ Fwgjny&$

fzklj�émqyjs$ Fpyn{nyéyjs$ xnsi$ {ts$ ijs$ _jny�jzljs$ fqx$ zsgj�fmqyj$ Fwgjnyxjnsxéy�j$ fzkljkfxxy$

|twijs2$ Injxj$ Fwgjnyxjnsxéy�j$ xnsi$ �jnyqnhm$ ,xt|tmq$ |fx$ inj$ Ifzjw$ fqx$ fzhm$ ijs$ _jnyuzspy$

gjywnkky-$ zswjljqréänl$ jwktqly2$ Inj$ Ozljsiqnhmjs$ rzxxyjs$ xnj$ �zxéy�qnhm$ �z$ nmwjw$

�-7>4DE476<7@F@9� 3>DA M47C <;C7 �1?E7C6<7@DE7� ;<@3FD <@ <;C7C %C7<J7<E >7<DE7@� $347< =3? 7D <@ 

ijs$5>94jw$zsi$5>;4jw$ Ofmwjs${twwfslnl$�z$Fwgjnyjs$ ns$ijw$Wjlnts0$ �2G2$ijw$Rnymnqkj$gjn$ijr$

Gfz$ {ts$ Xunjquqéy�js0$ Xywfäjs$ jyh2$ Ns$ ijs$ 5><4jw$ zsi$ 5>=4jw$ Ofmwjs$ qfxxjs$ xnhm$ {jwrjmwy$

Jnsxéy�j$ ns$ ijw$ Nsizxywnj$ sfhm|jnxjs2$ Xnj$ injsjs$ itwy$ fqx$ Mnqkj$ �zw$ Jwkqqzsl$ ijw$ xyffyqnhmjs$

Uqfs{twlfgjs2$ Inj$ Ozljsiqnhmjs$ qjnxyjyjs$ Xtsijwxhmnhmyjs$ ns$ ijs$ Gjywnjgjs$ zsi$ |zwijs$ �z$

Kjzjw|jmwjnsxéy�js$mjwfslj�tljs2$$$

_|jnyjsx2$ Fwgjny$ fqx$ Xywfkj2$ Inj$ Ktwrjs$ ijw$ Xywfkfwgjnyjs$ zsyjwxhmnjijs$ xnhm$ ns$ ijs$

{jwxhmnjijsjs$Mjnrjnswnhmyzsljs$pfzr2$Inj$Fwgjnyjs$xtqqyjs$zsfsljsjmr$,Ytnqjyyjs$uzy�js-0$

�jnyfzk|jsinl$ ,Fzkwézrfwgjnyjs-0$ pûwujwqnhm$ xhm|jw$ xjns$ ,Kqzwj$ wjnsnljs$ zsi$ gtmsjws$ rny$

xhm|jwjs$ Ljwéyjs-$ zsi$ jsymnjqyjs$ snhmy$ xjqyjs$ wjuwjxxn{j$ Jqjrjsyj0$ inj$ if�z$ injsyjs0$ ifx$

Rfhmy{jwméqysnx$ �z$ ijrtsxywnjwjs$ ,Fzyt$ |fxhmjs$ {tr$ Jw�njmjw0$ Gûijs$ xézgjws$ rny$ ijw$

_fmsgwxyj-2$ Xnj$ |zwijs$ {ts$ ijs$ Gjywtkkjsjs$ tkyrfqx$ fqx$ Xhmnpfsj$ jwqjgy0$ if$ xnj$ ns$ jnsjr$

Rnxx{jwméqysnx$�z$ijw$gjxywfkjsijs$Mfsiqzsljs$xyfsijs2$$
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Ifgjn$ nxy$ if{ts$ fzx�zljmjs0$ ifxx$ xnhm$ injxj$ Xywfkfwgjnyjs$ hmwtstqtlnxhm$ snhmy$ xuj�nkn�njwjs$

qfxxjs0$ xtsijws$ xnhm$ gjw$ ijs$ ljxfryjs$ _jnywfzr$ ijw$ IIW$ xufssjs$ zsi$ ifxx$ injx$ fzhm$

zsfgméslnl${ts$ijs$Mjnrfwyjs$lnqy2$$

Iwnyyjsx2$ Gjwzkqnhmj$ Vzfqnkn�njwzsl2$ Inj$ gjwzkqnhmj$ Vzfqnkn�njwzsl$ ljmûwyj$ �$ ijr$ Fsxuwzhm$

sfhm$�$�zr$Pts�juy$ijw$IIW1Mjnrjnswnhmyzsljs2$Ywty�$fskéslqnhmjw$Gjrmzsljs$nxy$jx$ojithm$

snhmy$ ljqzsljs0$ ns$ fqqjs$ Ozljsi|jwpmûkjs$ ijs$ Ozljsiqnhmjs$ jnsj$ Fzxgnqizsl$ �zptrrjs$ �z$

qfxxjs2$ Gjn$ ijw$ Gj|jwyzsl$ ijw$ Fwgjny$ nxy$ jx$ snhmy$ zsjwmjgqnhm0$ tg$ inj$ fg{jwqfslyj$ Fwgjny$ Yjnq$

jnsjw$Fzxgnqizsl$|fw0$tijw$tg$xnj$tmsj$ojijs$[twyjnq$kw$ifx$Pnsi3ijs$Ozljsiqnhmjs$fzxljkmwy$

|jwijs$rzxxyj2$Rfs$rzxx$kjxyxyjqqjs0$ifxx$inj$Fzxgnqizsl$ijw$Ozljsiqnhmjs$mézknl$szw$jns$Fqngn$

ifwxyjqqyj2$$

Nsxgjxtsijwj$ ns$ ijs$ Izwhmlfslxjnswnhmyzsljs$ rzxxyjs$ snhmy$ szw$ Ozljsiqnhmj0$ xtsijws$ fzhm$

Pnsijw$ tmsj$ ojijs$ Fzxgnqizslxfxujpy$ �zr$ Yjnq$ xyzrukxnssnlj$ zsi$ xhm|jwj$ Fwgjnyjs$

izwhmkmwjs2$ Injxj$ Pnsijw$ xnsi$ tmsj$ ojijs$ uéifltlnxhmjs0$ xhmzqnxhmjs$ tijw$

Fzxgnqizslxljxnhmyxuzspy$�z$Yéynlpjnyjs$lj�|zsljs$|twijs2$$

[njwyjsx2$ Fwgjnyjs$ ns$ ijw$ xt�nfqnxynxhmjs$ Uwtizpynts2$ Nsxgjxtsijwj$ inj$ Ozljsi|jwpmûkj$

|zwijs$ fg$ 5>9;$ ijs$ Fsktwijwzsljs$ ijw$ IIW1Uqfs|nwyxhmfky$ fsljufxxy2$ I2m2$ rfs$ gfzyj$

\jwpmûkj$ ns$ inj$ Sémj$ {ts$ Nsizxywnjfsqfljs$ zsi$ qnjä$ inj$ Ozljsiqnhmjs$ itwy$ fwgjnyjs2$ Fzx$

jmjrfqn97@ �)7;CH7C=DEKEE7@� HFC67@ 3>>?K;><5; �,CA6F=E<A@DH7C=DEKEE7@��$ Jx$ lfg$

Ozljsi|jwpmûkj0$ijwjs$Xyfsitwy|fmq${tr$[tyzr$ijx$gjywjkkjsijs$Gjywnjgjx$fgméslnl$ljrfhmy$

|zwij2$

Kskyjsx2$Jsyqtmszsl2$ _zrjnxy$ xnsi$inj$Fwgjnyjs$jsyqtmsy$|twijs2$Ifx$gjijzyjyj$fgjw$snhmy0$

ifxx$inj$Pnsijw$zsi$Ozljsiqnhmjs$nmwjs$Qtms$fzhm$jwmnjqyjs2$Jnsjwxjnyx$|zwij$injxjw$Qtms$rny$

ijs$ Fzkjsymfqyxptxyjs$ ijw$ Jnswnhmyzsl$ {jwwjhmsjy2$ Fsijwjwxjnyx$ jwmnjqyjs$ inj$ \jwpmûkj$ ijs$

{tr$ Gjywnjg$ lj�fmqyjs$ Qtms0$ ijs$ Pnsijws$ zsi$ Ozljsiqnhmjs$ fgjw$ |zwij$ snhmy$ injxjw$ Qtms$

fzxlj�fmqy$ tijw$ fsljwjhmsjy0$ xtsijws$ xnj$ jwmnjqyjs$ szw$ jnsjs$ Yjnq$ if{ts$ ns$ Ktwr$ jnsjx$

\jwpmtkyfwnkjx0$ ijw$ gjn$ Inx�nuqns{jwxyûäjs$ fzhm$ ljrnsijwy$ |jwijs$ ptssyj2$ Ijw$ jnsgjmfqyjsj$

[jwinjsxy$ pfr$ nsinwjpy$ ijr$ Xyffyxmfzxmfqy$ �zlzyj2$ Gjn$ injxjr$ X~xyjr$ pfr$ jx$ �z$

[jwzsywjzzsljs2$

Xjhmxyjsx2$ Qjnmfwgjny2$ Ozljsiqnhmj$ xnsi$fs$Gjywnjgj0$ inj$inj$Qjnxyzsljs$ijx$Kskofmwjxuqfsjx$

snhmy$ jwkqqjs$ ptssyjs$ tijw$ kw$ ijs$ \jxy1J}utwy$ uwtiz�njwyjs$ {ts$ nmwj$ Mjnrjnswnhmyzsl$

C797>C75;E �G7C><7;7@� HAC67@� Ozljsiqnhmj$ |zwijs$ kw$ Ptrrzsjs0$ Pwjnxj$ zsi$ Gjywnjgj$ fqx$

Fwgjnyxwjxjw{j$ fsljxjmjs$zsi${jw|jsijy2$ Jx$ lfg$Gjywnjgj0$ inj$ fzx$ûptstrnxhmjs$Lwsijs$ ns$

Mjnrjnswnhmyzsljs$ ns{jxynjwyjs2$ $ Ns$ jnsjr$ Kfqq$ xnsi$ Réihmjs$ fqx$ Yfs�ufwysjwnssjs$ fs$ S[F1

Pfxjwsjs$fzxljqnjmjs$|twijs2$Pnsijw$rzxxyjs$kw$Uwn{fyujwxtsjs$fwgjnyjs2$$
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Xnjgyjsx2$Fwgjnyxgjinslzsljs2$Ozljsiqnhmj$xnsi$�z$Fwgjnyxqjnxyzsljs$lj�|zsljs$|twijs0$inj$

pjnsj$ljsljsijs$Whpxnhmyjs$fzk$Fqyjw$zsi$Ljxzsimjny$ijw$Pnsijw$zsi$Ozljsiqnhmjs$pfssyjs2$

Pnsijw$zsi$ Ozljsiqnhmj$rzxxyjs$gjn$Uwtizpyntsxjsluéxxjs$zs{twmjwljxjmjs$Xtsijwxhmnhmyjs$

izwhmkmwjs2$ Xnj$rzxxyjs$ nr$Iwjnxhmnhmyx~xyjr$fwgjnyjs2$ Xnj$|fwjs$ nr$ Ozljsi|jwpmtk$Kwjnyfq$

ijw$Ljkfmw$fzxljxjy�y$rny$wfintfpyn{js$Rfyjwnfq$ns$Gjwmwzsl$�z$ptrrjs2$

Fhmyjsx2$Inj$wjhmyqnhmj$Xyjqqzsl$ijw$Pnsijw$zsi$Ozljsiqnhmjs2$Jx$gjxyfsijs$kw$inj$Nsxfxxjs$

pjnsj$ wjfqjs$ Rûlqnhmpjnyjs0$ ijr$ _|fsl$ �zw$ Fwgjny$ wjhmyqnhm$ jsyljljs�z|nwpjs2$

Fwgjnyx{jw|jnljwzsl$ |fw$ ijwfwy$ xyfwp$ xfspyntsnjwy0$ ifxx$ xnj$ pjnsj$ Tuynts$ kw$ inj$ Pnsijw$ zsi$

Ozljsiqnhmjs$ifwxyjqqyj2$

Sjzsyjsx2$ _|fslxgntlwfknjs2$ Inj$ Fwgjny$ |fw$ kw$ inj$ Gjywtkkjsjs$ mézknl$ ns$ jns$ fqqljrjnsjx$

_|fslxx~xyjrx$ jnsljgzsijs$ zsi$ mfy$ gjn$ nmsjs$ Xhméijs$ mnsyjwqfxxjs0$ zsyjw$ ijsjs$ xnj$ sthm$

mjzyj$ qjnijs2$ Xnj$ mfy$ if�z$ ljkmwy0$ ifxx$ inj$ Xhmzqgnqizsl$ fgljgwthmjs$ |jwijs$ rzxxyj0$ ifxx$

Gjwzkxfzxgnqizsljs$snhmy$xyfyykfsijs0$ifxx$pjnsj$\fmq$�z$gjxynrryjs$Gjwzkjs$rûlqnhm$|fw$zsi$
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zsljjnlsjy$|fwjs0$inj$xuéyjwj$ûptstrnxhmj$Xjqgxyxyésinlpjny$�z$kûwijws2$

_jmsyjsx2$_|fslxfwgjny2$Jx$lngy$Kéqqj0$gjn$ijsjs${ts$&_|fslxfwgjny&$ljxuwthmjs$|jwijs$pfss2$

I2m2$ jx$ qéxxy$ xnhm$ mnjw$ pjnsjwqjn$ Gj�zl$ �z$ nwljsijnsjr$ xnss{tqqjs$ tijw$ wjkqjpynjwyjs$

uéifltlnxhmjs$X~xyjr$jwpjssjs2$If�z$�émqjs${njqj$Izwhmlfslxjnswnhmyzsljs2$If�z$�émqyj$ifx$

Fwgjnyxqfljw$ Wijwxitwk$ zsi$ ijw$ Ljxhmqtxxjsjs$ Ozljsi|jwpmtk$ Ytwlfz2$ Injxj$ Jnswnhmyzsljs$

injsyjs$ijw$Inx�nuqnsnjwzsl$zsi$ifx$Mfzuyrnyyjq$if�z$|fwjs$Xywfkj$zsi$Fwgjny2$$$

$

Kf�ny$

,Fzx�zl$fzx$ijr$Ktwxhmzslxgjwnhmy$tmsj$Vzjqqjsfslfgjs0$X2$5>>$1$645-$

\nw$ mfgjs$ {jwxzhmy0$ ijs$ Ptsyj}y$ �z$ jsy|jwkjs0$ ijw$ ijs$ Hmfwfpyjw$ ijw$ Fwgjny$ ns$ ijs$

Ozljsimnqkjjnswnhmyzsljs$gjxynrry$mfy$zsi$ijw$ �zlqjnhm$ fzhm$ijs$Gj|jwyzsljs$izwhm$

inj$_jny�jzljs$ljwjhmy$|nwi2$

Ifx$Uméstrjs$&Fwgjny&$ ns$ijs$ Ozljsimnqkjjnswnhmyzsljs$ijw$IIW$ nxy$ nrrjsx${njqkéqynl0$

if$ jx$ zsyjwxhmnjiqnhmj$ Inrjsxntsjs$ ,{ts$ Fwgjnyxjw�njmzsl$ gnx$ �zw$ |nwyxhmfkyqnhmjs$

Fzxgjzyzsl-$ zsi$ zsyjwxhmnjiqnhmj$ Ktwrjs$ ,Xjqgxygjinjszsl0$ Xywfkfwgjny0$

Gjwzkxfzxgnqizsl0$ Qjnmfwgjny0$ ljxjqqxhmfkyqnhm$ sy�qnhmj$ Fwgjny$ jyh2-$ ns$

zsyjwxhmnjiqnhmjs$_jnyujwntijs$,fqx$Ptsywfxy$inj$nijfqnxynxhmjs$kwmjs$5>94jw$zsi$inj$

|nwyxhmfkyxtwnjsynjwyjs$ 5>;4jw$ Ofmwj-$ ns$ zsyjwxhmnjiqnhmjs$ Mjnrfwyjs$

,Stwrfqpnsijwmjnrj$gnx$�zr$Ozljsi|jwpmtk$Ytwlfz-$gjywnkky2$Inj$nxtqnjwyj$Gjywfhmyzsl$
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Inj$ [twfzxxjy�zsljs$ �zw$ [jw|jsizsl$ ijx$ Yjwrnszx$ &_|fslxfwgjny&$ zsyjw$

Gjwhpxnhmynlzsl$ ijw$ fzxkmwqnhm$ ifwljxyjqqyjs$ Gjlwnkkxmnxytwnj$ zsi$ ijw$ jwqézyjwyjs$

jymnxhmjs$Rfäxyégj0$inj$fs$ifx$Uméstrjs$fsljqjly$|jwijs0$jwxhmjnsjs$nr$Mnsgqnhp$fzk$

ktqljsij$Ktwrjs${ts$Fwgjnyx{jwukqnhmyzsljs$ns$ijs$Ozljsimnqkjjnswnhmyzsljs${ts$5>8>$

gnx$5>=>$mnswjnhmjsi$jwkqqy?$

f-$Fqqj$ ns$ijs$Izwhmlfslxjnswnhmyzsljs$ ,Izwhmlfslxxyfyntsjs0$Izwhmlfslxmjnrjs$zsi$

Izwhmlfslxuqéy�js-$ {ts$ 5>8>$ gnx$ 5>=>$ izwhmljkmwyjs$ Fwgjnyjs0$ inj$ rny$ jnsjr$

Gjxhmékynlzslx{jwméqysnx$fzäjwmfqg$ijw$Jnswnhmyzsl${jwlqjnhmgfw$xnsi2$$

g-$ Fqqj$ ns$ ijs$ Ozljsi|jwpmûkjs$ izwhmljkmwyjs$ Fwgjnyjs0$ inj$ rny$ jnsjr$

Gjxhmékynlzslx{jwméqysnx$ fzäjwmfqg$ ijw$ Jnswnhmyzsl$ {jwlqjnhmgfw$ xnsi$ zsi$ rny$ pjnsjw$

gjwzkqnhmjs$ Vzfqnkn�njwzsl$ {jwgzsijs$ |fwjs2$ If�z$ ljmûwjs$ nsxgjxtsijwj$ ktqljsij$

Gjywtkkjsjslwzuujs?$

# inj$Nsxfxxjs$ijw$Ozljsi|jwpmûkj$ijx$Y~ux$N0$

# inj$Lwzuujs${ts$Ozljsiqnhmjs$fg$ijr$5<2$Qjgjsxofmw0$$

# inj$ qjinlqnhm$ kw$ inj$ Jwkqqzsl$ {ts$ \nwyxhmfky1$ zsi$ J}utwyuqésjs$ ljlwsijyjs$

Lwzuujs$ nssjwmfqg$ {ts$ Ozljsimnqkjjnswnhmyzsljs$ |nj$ �2G2$ inj$ Réihmjslwzuuj$

ijx$Pséhpj|jwpjx$nr$Ozljsi|jwpmtk$Gzwl$,xnjmj$Pfunyjq$;2=-0$$

# inj$[jwukqnhmyzsl$ijw$Ozljsiqnhmjs$�z$Xtsijwxhmnhmyjs$nssjwmfqg$ijw$Uwtizpynts$

sjgjs$ ijw$ wjlzqéwjs$ gjwzkqnhmjs$ Vzfqnkn�njwzsl$ �2G2$ ns$ ijs$ [tqqyzhm|jwpjs$

Hwnrrnyxhmfz$,xnjmj$Pfunyjq$;2552;-2$$

$

Injxj$mnjw$ljsfssyjs$Ktwrjs${ts$Fwgjnyx{jwukqnhmyzsljs$jwkqqyjs$pjnsj$uéifltlnxhmj$

Fgxnhmy0$xtsijws$�njqyjs$fzk$inj$|nwyxhmfkyqnhmj$Fzxszy�zsl$ijw$Fwgjnyxpwfky$ijw$Pnsijw$

zsi$Ozljsiqnhmjs2$Xnj${jwxynjäjs$ifrny$ljljs$ifx$[jwgty$ijw$Nsxywzrjsyfqnxnjwzsl$zsi$

lnsljs$fzhm$ns$Mnsgqnhp$fzk$inj$ifizwhm$jsyxyfsijsjs$xt�nfqjs$zsi$ux~hmnxhmjs$Ktqljs$

rny$ jnsjw$ Ijrynlzsl$ ijw$ Ujwxtsjs$ jnsmjw2$ Inj$ Gjywtkkjsjs$ xfmjs$ pjnsj$

\nijwxyfsixrûlqnhmpjnyjs$ zsi$ mfgjs$ xnhm$ ns$ injxjr$ Fgméslnlpjnyx{jwméqysnx$ snhmy$

rjmw$ fqx$ Xzgojpy0$ xtsijws$ fqx$Rnyyjq$ kw$ kwjrij$_|jhpj$ nsxywzrjsyfqnxnjwy$ljkmqy2$Inj$

ljwnslj$Xzgojpyxyjqqzsl$nssjwmfqg$ijw$IIW1Uéifltlnp$|fw$1$|jss$fzhm$snhmy$inj$Zwxfhmj$

1$ xt$ ithm$ �zrnsijxy$ ijw$Sémwgtijs$ kw$ inj$ Jsy|nhpqzsl$ {ts$ Ktwrjs$|nwyxhmfkyqnhmjs$

Rnxxgwfzhmx2$$

$

Injxj$Ktwrjs$pûssjs$ifmjw$fzhm$fqx$&_|fslxfwgjny&$gj�jnhmsjy$|jwijs2$Inj$Fzkqnxyzsl$

gjfsxuwzhmy$pjnsj$[tqqxyésinlpjny2$\jnyjwj$Ktwrjs${ts$Fwgjnyx{jwukqnhmyzsljs0$inj$inj$

ljsfssyjs$ Pwnyjwnjs$ jwkqqjs0$ xnsi$ snhmy$ fzx�zxhmqnjäjs$ zsi$ xtqqyjs$ jnsjw$

Jns�jqkfqquwkzsl$zsyjw�tljs$|jwijs2$$
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$ <$

Jnsj$Wjiz�njwzsl$ijx$ljxfryjs$Uméstrjsx$ijw$Fwgjny$ns$ijs$Ozljsimnqkjjnswnhmyzsljs$

fzk$ijs$Gjlwnkk$ijw$&_|fslxfwgjny&$|éwj$ojithm$zs�zwjnhmjsi2$Inj$Xywzpyzwjs$ijw$IIW1

Ozljsimnqkj$ |fwjs$ rny$ jnsjr$ utqnynxhmjs$ X~xyjr$ {jwxhmwéspy0$ ns$ ijr$ xt|tmq$ ijr$

Jw�njmzslxljifspjs$ |nj$ fzhm$ ijw$ if�zljmûwnljs$ Fwgjny$ jnsj$ rjsxhmmjnyx1

ptsxynyznjwjsij$ Kzspynts$ �zpfr2$ Inj$ ptruqj}j$ Wjfqnyéy$ ijw$ Ljxyfqyzsl$ injxjw$ Nijj$ ns$

ijs$Jw�njmzslxjnswnhmyzsljs$ijw$IIW$mfyyj$rny$|jsnljw$fgxywfpyjs$Uwtgqjrjs$�z$yzs2$

Mnjw$ ljwnjyjs$ inj$ fzhm$ {ts$ ijw$ [jwkfxxzsl$ ijw$ IIW$ ktwrzqnjwyjs$ Fsxuwhmj$ ns$ ijr$

Rtrjsy$nsx$Mnsyjwywjkkjs0$fqx$inj$Ozljsiqnhmjs$�zr$Yjnq$jnsjw$sfhm$uqfs|nwyxhmfkyqnhmjs$

Ljxnhmyxuzspyjs$ twlfsnxnjwyjs$ \nwyxhmfky$ |zwijs0$ ijwjs$ _zlwnkk$ xnj$ xnhm$ fzklwzsi$ ijw$

Wjhmyxzsxnhmjwmjny$ nmwjw$ Xnyzfynts$ snhmy$ jsy�njmjs$ ptssyjs2$ Inj$ ux~hmnxhmj$ \nwpzsl$

injxjw$[jwjnssfmrzsl$fzk$inj$Jsy|nhpqzsl$ijw$Ujwxûsqnhmpjny$ijw$Mjwfs|fhmxjsijs$nxy$

nr$ Gjlwnkk$ ijw$ &_|fslxfwgjny&$ snhmy$ jsymfqyjs2$ Jw$ jwxhmjnsy$ ifmjw$ �|fw$ kw$ inj$

Hmfwfpyjwnxnjwzsl$ gjxynrryjw$ Ktwrjs$ ijw$ Fwgjnyx{jwukqnhmyzsljs$ fs|jsigfw0$ pfss$

ojithm$ijr$Jwqjgjs0$rny$xjnsjs$gnx$mjzyj$fsifzjwsijs$Ktqljs0$snhmy$ljsljsi$Wjhmszsl$

ywfljs2$ Ijw$ Yjwrnszx$ &Rnxxgwfzhm&0$ kw$ ijxxjs$ [jw|jsizsl$ ns$ ijs$ mnjw$ ljxhmnqijwyjs$

_zxfrrjsmésljs$ uqéinjwy$ |nwi0$ zrkfxxy$ snhmy$ szw$ ijs$ _|fslxhmfwfpyjw$ ijw$ Fwgjny0$

xtsijws$nspqzinjwy$inj$ux~hmnxhmjs$zsi$xt�nfqjs$Ktqljjwxhmjnszsljs0$inj$ nr$Qjgjs$ijw$

Gjywtkkjsjs$gnx$mjzyj$xnhmygfw$xnsi2$$$$$$$$

$

#


